Matematicka indukcija - Domacéi rad (Milosevié Sara 1113)

1080.
A)1+2+3+ - +n=nx2D
sn o)

1) S = Fay (?)
a1 == Sl
aa=1-5=1

1+x(1+1)
Foy=—=—=1-8=Fy (D)
2)1+2+3++n=n+"2 5 142434 dn +(n+1) =222

sn ~—_———
po indukcijskoj hipotezi F(n+1)

nx(n+1) n 2x(n+1) _ n?+n+2n+2 _ n?+3n+2 _ (n+1)(n+2)

2 2 2 2 2 = Faeny
1081.
2 *
b) i+L+"'+n +n+1 =n (n+2)
1x2  2x3 n+x(n+1) n+1
sn F(n)

1) $1 = Fy (?)

a1 = Sl
_ 3 _ 3
M1 2
_ 1%(142) _ 3 _
Foy=—7=3 2 Si=Ffy O
2 *
2) 3 7 n m+n +n+1 _n (n+2)
1%2 23 nx(n+1) n+1
2 2
3 + 7 ot nc+n+1 n+1)%+(n+1)+1 _ (n+1)(n+3)
12~ 2#3 nx(n+1) (n+1)(n+2) (n+2)
sn

po indukcijskoj hipotezi

nx(n+2) (n+1)2+(n+2)_n*(n+2)2+(n+1)2+(n+2)_
n+1 m+Dn+2) m+1)(n+2) -

n+2)*+2n+ 1D+ n+1)? +2)n+1D*+n+1)*
n+1(n+2) B n+2)(n+1) B

(n+1)2*(n+2+41) _ (n+1)(n+3) _
m+2)(n+1) (m+2) (@D







